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Physics 102 Quiz #9 Section #:
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Ql.  Consider the circuit shown in the figure.

15Q 7
. . , 133
(2) Find the current in the 5 €2 resistor, /"
Regirdes = 5+(55 140 + 15 «+ = 353 Lk
t= 2% 0-60A
(b) Find the current in 20 €2 resistor. 1502 )
Voltoge actoss He 20 ane) D02 I"N\’T
V = 7 133 - 06os 133 wlE \i L3302
= §.0 V2B i
; y 80 .
?’205 E‘: 20 A’_ﬁvl/-DA
20

Q2. A 16.0kQresistoranda 1.5x107'°F capacitor are connected in series and then a
12.0 V potential difference is suddenly (at t = 0) applied across them.

(a) Calculate the time constant of the circuit.
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(b) Find the voltage across the resistor at t= 2.0ps.
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